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Directions :

The following seven (7) items consist of two
statements, statement | and statement II.
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

fa) Both the statements are
individually true and
statement II is the correct
explanation of statement I

(b) Both the statements are
individually true but
statement II is not the correct
explanation of statement I

(c) Statement [ is true but
statement II is false

(d) Statement I is false but
statement II is true

1. Statement I :

The planet Neptune appears blue
in colour.

Statement 1I :

The presence of methane gas in
the atmosphere of Neptune is
responsible for its colour.

2. Statement I :

Comets revolve round the Sun
only in long elliptical orbits.

Statement 1I :

A comet develops a tail when it
gets close to the Sun.
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Statement I :

Pulling a lawn roller is easier than
pushing it.

Statement II :

Pushing increases the apparent
weight and hence the force of
friction.

Statement I ;

All compounds contain more than
one element.

Statement II :

All compounds are heterogeneous
mixtures.

Statement I :

Tsunami is small in open ocean
yet may be over 30 m high when it
reaches a coastline.

Statement II :

Tsunamis have long wavelength
and they travel across the open
ocean at high speed. As they
approach shore, the wavelength
decreases and the wave height
increases.

6. Statement I :

Operation Parakram involved the
mobilization of Indian troops along
India’s border with Pakistan.

Statement 11 :

After the year 2001 Parliament
attacks, India wanted to pressure
Pakistan into acting against terror
groups operating from areas under
its control.
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7. Statement I :

India supports the development
and use of the Chabahar Port in
Iran.

Statement II :

India does not subscribe to
Western sanction on energy trade
with Iran.

8. The ‘Partnership Council’ was
launched in May 2012 to
implement the ‘Strategic
Partnership Agreement’ signed in
the year 2011 between India and

(a) United States
(b) China
(c) Maldives

(d) Afghanistan

9, The Indian Army  undertook
Operation Meghdoot to establish
Indian control over

(a) Sir Creek
(b) Aksai Chin
(c) Siachen Glacier

(d) Drass Sector

10. The Treaty on Integrated
Development of Mahakali River’
was signed between India and

(a) Pakistan
(b) Nepal
(¢) Bhutan

(d) Bangladesh
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11. Farkhor Air Base, operated by the
Indian Air Force, is situated in
which one among the following
countries?

fa) Kazakhstan
(b) Uzbekistan
(c) Afghanistan

(d) Tajikistan

12. INS Vikramaditya, scheduled for
induction into the Indian Navy soon,
is the name given to

fa) an aircraft carrier
fb) a nuclear submarine
(c) an amphibious assault vessel

(d) a stealth ship

13. In the year 2012, India undertook
its largest military exercise since
independence. This was named

(a) Yudh Abhyas
(b) Rudra Akrosh
fc) Sudarshan Shakti

(d) Shoor Veer
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14, Consider the following statements

about Sufism :

1. The Sufis were critical of
the dogmatic definitions
and scholastic methods of
interpreting the Quran and

Sunna (traditions of the
Prophet) adopted by the
theologians.

2. The Sufis sought an
interpretation of the Quran on
the basis of their personal
experience.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

15. Model towns were created in India in

the 1950s with the object of

(a) providing urban planning skills
to local governments

(b) creating housing at affordable
rates

(c) paving the way for all inclusive
growth

(d) providing housing for those
displaced during partition and
be an example of good town
planning
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16. The first Indian ruler to be shown in

images as wearing a dress akin to
trousers is

fa) Chandragupta

(b} Ashoka

(c) Kanishka

(d) Samudragupta

17. Which one among the following is

not a function of Mir Bakhshi, the
head of the military department as
well as of the nobility under Mughal
Tule?

(a) He made recommendations for
appointment to Mansabs to the
Emperor

(b) He  collected reports of
intelligence and information
agencies of the empire and
presented them to the Emperor
at the court

(c/ He was responsible for all
incomes and expenditures, and
held control over Khalisa, Jagir
and Inam lands

(d) He was responsible for the
security of foreign travelers on
the highways of the empire
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18. Which among the following 20. Surgeons can perform delicate
statements regarding the Gupta operations by using devices
dynasty is/are correct? through computers. This

1. The Kumaramatyas were the technology is known as

most important officers and (a) robotics
they were appointed directly

by the King in the home (b) simulation
provinces.

{c) forecasting
2. The village headmen lost _
importance and land (d) computer forensics
transactions began to be

effected without their consent. 21, On the labels of the bottles, some

soft drinks are claimed to be acidity

Select the correct answer using the regulators. They regulate acidity
code given below : using

(a) carbon dioxide

Code : )
(b) Dbicarbonate salts
(a) 1 only (c) both carbon dioxide and
bicarbonate salts
(b) 2 only

(d) carbon dioxide and lime

(c) Both 1 and 2 22. The gas which turns limewater

ey
(d) Neither 1 nor 2 milky is
(a) carbon dioxide

19. The variability @ among living
organisms from all sources
including terrestrial, marine and () ammonia
other ecosystems and the
ecological complexes of which they
are part which includes diversity
within species, between species of
ecosystems refers to

(b) carbon monoxide

(d) mnitrogen dioxide

23. When deep-sea fishes are brought to
the surface of the sea, their bodies
burst. This is because the blood in

. their bodies flows at very
(a) geographical diversity

(a) high speed

b) zoological diversi
v . ¥ (b) high pressure

(c) ecological diversity (c) low speed
(d) biological diversity (d) low pressure
P-DETB-M-HL/66A 8
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18. W TSRy & wery § fafofas # @ 20. FF R FA H YA F NS

FH-1/H T T /87 A WCITHA W THA B | W aIE
1. FANER Fad wEeqyl SR 9 1 FEd 27
GRS LG (@) s
&7 A Frge o o 9y
2, T4 ¥ [Ed w TEE TH @ ™ &)
qu IWhR wedta & T offt = (c) qaigH
S E & (d) o faf (wiefie)
A= fw M oge w1 o W owE I 21, e % oud W T @ few gmn @
gfm % 3 enefaa fams €1 3 anelgar @
- T foraesr T o a7
' (a) TEA STZBNHATEES
(@) a1
(b) TEHEHE AGU
(b) THaA 2 (c) FTEA TRATTEE AT FIFHEWE
SEREC
(c) 132

(d) e SEIATFATZE T A

(d) A 1MAH 2 22, 3% g, N 9 F T B g W A 3,
-4 87

1o, Hifr <t # ffmw = @ A @ (@) FE SRS

oyt wafegt miter & ms 3 s
3, oot oifigst & wnfeat & ew=w 3t
st &% e fafawar wie ?, R
fafde et 27

(@) smfes fafaem

(b) Sia-stg h e

(c) urfifedfes fafayum

(@) St el
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(b) FTEA T -ATHTS
(c)
(d) TEISH TETHES

23, 99 TR 6y i wefeEl @yx i wag W

et S €, 3T TR % 9§ e
Tafo R, w6ifs 3% v @

(a) &EA A A A @ 2
(b) ¥EA A <@ T TEA 8
(c) wga dieh fe @ sga R
(d) =g W gTd T e R
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24, It is difficult to cut things with a
blunt knife because

(a) the pressure exerted by knife
for a given force increases with
increase in bluntness

(b) a sharp edge decreases the
pressure exerted by knife for a
given force

(c) a blunt knife decreases the
pressure for a given force

(d) a blunt knife decreases the
area of intersection

25. Arrange the following tributaries of
river Brahmaputra from west to
east :

1. Lohit
2. Dibang
3. Subansiri
4

Tista

Select the correct answer using the
code given below :

Code :

(@ 4-3-2-1
(b) 4-3-1-2
(c) 3-4-2-1

(d) 2-4-3-1

P-DETB-M-HL/66A
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26. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
(Hill Station) (Location in Map)

A. Dharamsala

B. Almora

C. Nainital

D. Darjeeling

Code :

(a) A B C D
1 2 3 4

(b) A B C D
1 3 2 4

(c) A B C D
2 1 4 3

(d) A B C D
2 4 1 3

27. The expression ‘South Asia’ usually

includes

fa) Bangladesh, Bhutan, India,
Maldives, Nepal, Pakistan and
Sri Lanka

(b) Nepal, Bhutan, India,
Afghanistan, China, Pakistan
and Sri Lanka

(c) Bangladesh, India, China,
Nepal, Japan, Pakistan and
Maldives

(d) Bangladesh, Bhutan, China,

Maldives, Nepal, Pakistan and
Sri Lanka
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24, WR AWE @ A B oweA gEERd

ERIIED
(a) FFelt fou m ow@ % fow =g 5w
T T T 36 MeRTA § gfy

F HU-H1Y Tl 2

(b} et fow muoaw & fa¢ = W
AT T4 TE H A A 9R FH
H A B

(c) T fiu T s ¥ fau @ @
O T HH I B

(d) U I AfedE-8F R FH W
ar ®

25, s@gd 4 &t Frefafa swafat & afim
A & H 3N F FH { A

e

femm

g

T

W o

R Ry M oge w1 o W OTE W
LN

®e

(@) 4-3-2-1

(b) 4-3-1-2

c) 3-4-2-1

(d)- 2-4-3-1

P-DETB-M-HL/66A

11

26. -1 & gHA-I 4 gafaa Al qn

gfEl & 9 T o % w1 wm W owd
Wﬂﬁm:

-1 -1
(TETEY ¥AT) (vl ® srerum)
A, gdyrEn

2
B. feHTE %
C. e
D. =ifsifem
&
@ A B C D
1 2 3 4
() A B C D
1 3 2 4
0 A°. B C D
2 1 4 3
d A B C D
2 4 1 3

27. syt o e’ O gmerE: s
e &7

fa) STRE, Y, WA, HIdQd, 9T,
aTfeREaT Td et

(b) AUTH, W, ¥R, IETEH,
<, wierea wa sficrn

fc) STEIRY, WRd, ¥H, 99T, SO,
PUETICRC R I

(d) STy, YEH, =H, ArefdE, Ao,
aiferea™ wa et
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28. Which one among the following

statements about the functioning of
political parties in a democracy is
not correct?

(a) Political parties give political
education to the people

(b) Political parties serve as a link
between the government and
the people

(c) Political parties fight elections
and try to get the maximum
number of their candidates
elected

(d) None of the above

29. Delimitation of constituencies and

determination of constituencies
reserved for SCs and STs are done
by

(a) Election Commission
{b) Delimitation Commission
(c) Planning Commission

(d) Election Commission with the
assistance of Delimitation
Commission

30. Which one among the following

statements about Veto Power with
regard to United Nations is correct?

(a) One veto can stall a Security
Council resolution

(b) 1t is a kind of positive vote
power

() The Secretary General uses
this power when not satisfied
with any decision of the
Council

(d) All the members of the Security
Council possess the veto power
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31. Which one among the following

is not a recommendation of the
Sarkaria Commission on the
appointment of the Governor in a
State?

(a) He/She must not have partici-
pated in active politics at least
for some time before his/her
appointment as Governor

(b} The Chief Justice of the
Supreme Court may be
consulted by the President in
selecting a Governor

(c) The Governor’s term of office
of five years should not be
disturbed except very rarely

(d) The Governor should not be
the native of the State

32. Which one among the following

nuclear-capable countries has a
declared No First Use policy?

(a) United States of America
(b) People’s Republic of China
{c) Pakistan

(d) Russia

33. The year 2002 Code of Conduct

related to territorial and maritime
dispute in the South China Sea was
signed between China and

(a) Philippines
(b) Vietnam
{c) United States of America

(d) ASEAN
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28. fordl gy ° wofifos e & F@wam

F famm # ffafaa wu=t 4 @ aF-w
TH Ha AE 27

(a) TSHifas & A R TS R
a3

(b) TSHITH & R T3 arl & o
FE FFH FA &

(c) USHIG® I TAE @8d & adl
ity g@g 3y 3Rfieard &
fyaftaa wem =Ed 8

(d) 39 3 | HE T

29. gty wifvdt T erEfE S %

foy amida fafes ot = o @
fatar &t w1 fRutor fes g fen
ST 27

(@) Tafem smam
(b) TiETT =R
(c) TSHT IR

(d) Tatm smam, uiema o &
GERA @

30. WF T ¥ wed # 9 whw & A A

frafafes & 4 F9-w & F9 ad 27

(@) T uftyg Ted H T AR U
o B

(b) B TH THR H GHRHE Ha TE 8

(c) uEwRE 3@ wie &1 W@ wa g
V& 9% uftwg & Freli fofe @ wge
Tl g

(d}l T I o it weed & e
vIfh Bt 2
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31. Ffdfga & @ oF-9 o, 5 8 &

T it TR & v A wweien
s i fawriar w4 27

(a) 38 T % ¥9 A A fghe &
FU-H-FH FT §IY Te dF Hid
worfifa & s fen gam @ @
Rl

() et TeTme A g | ugufa g

I AR % g Adid §
AR o T AT

() TsEqe 6t o af H wely 3,
sy feufa At e, s a8
el s =R

(d) TSYUTd & 39 T59 &1 a8 framd
T B AT

32, fi=fafaa @ & fa ow wfwha wem 2w

A, ‘e w@m T FE N iy 27
(a) Y T ST

(b) < A TR

(c) UTfRE

(d) *u

33. <& <A gEr T qarfE ok Wt foee

¥ gafie =¥ 2002 meEm wfgm, =
3ir forgss ffe semafa g87

(a) TR
(b) Tagam
(c) TIH T IHGHT

(d) ASEAN
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34. Which one among the following

statements about Mohamed
Nasheed of Maldives is not correct?

(a) He was the first President of
Maldives to be elected through
multiparty elections

(bp) He became the President of
Maldives in the year 2008

() He was a strong advocate of
the policies of long-time
President Maumoon Abdul
Gayoom

(d) He has been advocating and
promoting democracy and
human rights in Maldives

35. Shunglu Committee was appointed

by the Prime Minister to

(a) draft the Jan Lokpal Bill

(b) look into the corruption
charges in the conduct of
Commonwealth Games

{c) look into telecom scam

(d) inquire into phone-tapping
amid a corporate lobbyist
scandal
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36. Anna Hazare was awarded the

Padma Bhushan in recognition for

(a) his war against corruption
and launching Bhrashtachar
Virodhi Jan Andolan

(b} his service to the Indian Army

(c) transforming a  barren-dry
village called Ralegan-Siddhi
in Maharashtra’s Ahmednagar
district into a model village
of self-sufficiency, ecofriendly
and harmony

(d) his remarkable social service in
the Adivasi areas of Bihar

37. Which one among the following

Indian events will be upgraded
as an international event from
February 20137

(a) Toshali Craft Mela
(b) Surajkund Craft Mela
(c) Sindhu Darshan Festival

(d} Pushkar Fair

38. The polity of the Harappan people, as

derived from the material evidence,
was

(a) secular-federalist
(b) theocratic-federalist
(c) oligarchic

(d) theocratic-unitary
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34, Ucfed & Higme T3t & fawy

ffafed wul & @ F-1 = T T
27

(a) ¥ g-Icid FaEted & dem |
fraifaa ¥ amen mafes &1 g
Tafa o

(b) FE FW 2008 # AARA & LA
EC

(¢ g dewrferd Tgafa Ag ofegd
T i AR F1 yas w9

(d) 98 WEfEs ® wwad 3R uMe
IfterRl @ qqEmede IR wradq
HAT @I

35. Y WG f Fghe yummEt g = f

s oft?

(@) 1 A F9ae mEEr @R FW
+ fom

(b) TTHAVSH Wl & GaToH | YRR &
IOt Y B & fog

(c) TEIAR MR hl S & fog

(d) SR efdse Qe § -2
i S % o
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36. o TR & fhEhl Araa § wEnymor @

wria fomm a?

(@) YERER & fo%g 3T I% 3N 9eHER
forieft s an=<iem T W

(b) ST U § I W

c) TREE & wewR ot # wemia-
fafg & swR-g@ v @
ATCH-OIAT,  TTARO-SF et 3T
S 9T e g 8§ dEedl

() fEr & srRadt &t # IR
sgEfia amifses A

37. fafafga wwefg geei 4 A fvg & =)

wEd 2013 ¥ W g & 9§
TG TR ?

(a) el firew Aen
(b) TS firew Aem
(c) Ty 3eH ImE

(d) R el

38, W & oM I Temaedr, @ F

T WeY A qronfha aan @, et ofi?
(a) wafg-gEaTd

(b) THAH-TEETE

(c) FelTa

(d) e - GhTEH

[P.T.O.
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39. Jaubaniis a dance form traditionally
performed in North-Eastern India
by the

(a)
(b)
(c)

(d)

Dimasas

Mizos

Khasis

Bodos

40, Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
(Festival) (State)
A. Ugadi 1. West Bengal

B. Nababarsha 2. Gujarat

C. Bhadra 3. Maharashtra
Purnima

D. Gudi Padwa 4, Andhra Pradesh

Code

(a) A B C D
4 1 2 3

(b) A B C D
4 2 1 3

{c) A B C D
3 2 1 4

{d)

P-DETB-M-HL/66A

41. Who among the following cultures
were the first to paint their pottery?

(a) Mesolithic

(b) Chalcolithic

(c) Neolithic

(d) Iron-age

42. Consider the following statements
about Shivaji’s military acumen :

1. He was a master in guerrilla
tactics and swift cavalry
warfare.

2.  He had built a series of fortified
strongholds on the table

mountains of the Western
Deccan.

Which of the statements given
above is/are correct?

(a] 1 only

(b) 2 only

(c/) Both 1 and 2

(d) Neither 1 nor 2

16

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



39. IW-YH wRd § qRFRE ¥4 8§ Weidia fdan

41, frafafea & @ fow o wwfa 3 s

M aren siet g T g/ TR s TeNTEl # wauyw fafa fmn?
AT I 9 87
(a) fa-q'[g;ﬂ:{ (a) HEUTIT9T
(b) Tt 5=
(b) ATHATSTOT
(c) @t A
(c) FEYTST
(d) TS A
(d) wE-gu
40. -1 H -1 * T gafra Hifsm ik
g % = e T F2 w1 @ W wd
mgﬁm
42, fimmt 6t 8= fagum & ar 7 F=fafya
gefi-1 qefi-11 Fot W RER R
( ) (=) 1. 3 i wrifa 3 gdfe gewer
A. Imfe 1. wiam s g # e ¥
B. aey 2. TSR 2. IR ufirht @R & e wEHal W
C. gt 3. wEmE Toretraie gl 1 sg@en ffifa i o)
D. Tt e 4, Y YR
Iueh el B § wH-W/A WA/
%2
@ A B C D
4 1 2 3 (a) =€ 1
‘) A B C D
4 2 1 3 (b) e 2
(c) A B C D
3 2 1 4 (c) 13 2
d A B C D ‘
3 1 2 4 (d) A@ 1A 2
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45. Recently

Jodized salt is a

(a) mixture of potassium iodide
and common salt

(b) mixture of molecular iodine
and common salt

() compound formed by combi-
nation of potassium iodide and
common salt

(d) compound formed by molec-

ular icdine and common salt

44, Antacids are commonly used to

get rid of acidity in the stomach.
A commonly used antacid is

(a) sodium hydrogen phthalate
(b) magnesium hydroxide
(c)

calcium hydroxide

(d) manganese acetate

Apple Computers of
USA has launched a touchpad
which allows a user to operate
desktop computer with finger
gestures, eliminating the need for a
mouse. What is the name of the
device?

(a) Mirror-image pad
(b) Virtual pad
(c) Fingertip track pad

(d) Magic track pad

P-DETB-M-HL/66A

46.

47.

48.

18

A device which is used in our TV set,
Computer, Radio set for storing the
electric charge is

resistor

(a)

inductor

(b)
(¢) capacitor

(d) conductor

A bus travels at a speed of 50 km per
hour to go from its origin to’its
destination at a distance of 300 km
and travels at a speed of 60 km per
hour to return to the origin. What
is the average speed of the bus?

(a) 54-55 km per hour
(b) 55 km per hour
fc) 55-55 km per hour
(d) 54 km per hour

Which one among the following is
called terrestrial planet?

(a) Mercury
(b) Jupiter
(c) Saturn
(d) Uranus
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43. JAAEHIFA THF a1 7

(@) WeREW srEEEe AR Wwe 6w
1 {omo

(b) T SR 3R TR THE 6
e

(c) W sTEEEE N WUww AWh
& aftyo § =1 R

(d) onfuaes IER R wurw s |
ELIRRIRES

44, YOV H HWHAR W TEHA Y2

et @ gewrn T & fom g R
AR W T Teard -9 37

(@) Tifeam gregeA o
(b) PefifiEm TGS
(c) T TRgiwEe
(@) B e

45. T € T USA # WA Fred 4 U v

0T A IR H T R SERA
ety FFge w el i afmmed «@
T FHEAT 2, N W dE WS H
JTavEERdl T8 @t 3@ gk w1 AW F|

27
(@) Tdu-yiafees O

(b) STl ¥
(c) -8R uy i
(d) g s
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46. T gk HA-H B S TR TV ¥e, FFR,

Wl 2§ fogg, oW F IR & R
Wh gt 87

(a) WfeQias
(b) 3t
(c) Tyt

(d) =i

47. F W 94 qA-TUH ¥ 300 fFo o I

Tasa % 50 fho o id wwe i nfq @
Tt 2 3N 60 fho o wia wwe H wfy
" qA-TE R A0E ded 2 5| R
ivea g = 27

(@) 5455 fho Hio Ufd T

(b) 55 o o wha Twer

(c) 5555 o Ho Ufer Twar

(d) 54 fo o ufa Tuer

48. T=ffag § @ frw wF =t el U w8d

&7
(@) 9

(b) TE
c) TH

(d) T

[P.T.O.
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49, Which  among the following
phenomena can occur when very
warm and humid air is rising over
a mass of a very cold air?

1. Calm weather
2. Snowfall
3. Storms and cyclonic storms

4. Intense rain and hail

Select the correct answer using the
code given below :

Code :

(a) 1 and 2
(b) 2 and 3
f¢/ 3 and 4

(d) 1 and 4

50. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
(Biosphere Reserve) (State)
A. Nilgiri 1. Odisha
B. Manas 2. Madhya Pradesh
C. Panchmarhi 3. Tamil Nadu
D. Simlipal 4, Assam
Code :
(@) A B C D
3 2 4 1
() A B C D
1 4 2 3
¢/ A B C D
3 4 2 1
d A B C D
1 2 4 3

P-DETB-M-HL/66A

51. The waves that help scientists to
understand the internal structure
of the Earth are

(a) primary waves
(b) secondary waves
fc) surface waves

{d) longitudinal waves

52. Gaddis are
{a) fishermen of Kerala

(b) pastoralists of Arunachal
Pradesh

(c) shepherds of Himachal

Pradesh

(d) nomads of Rajasthan desert

53. Which one among the following is
not included in the Fundamental
Rights embodied in the Constitution
of India?

(a) Right to Equality
(b) Right to Freedom
(c) Right against Exploitation

(d) Right to Information
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49, V= 3f sfaet ag A wefd & Fw i aw

siv o am so 2, A Fretan # 9
H-6t mead ufa B gwdl €7

51. 3 al, S IFHH H o A RS

GEAT B gHge | nee sl €, we-w
27

1. 93T HrEH
2. foqama (a) Sfie Gt
3. %W 3 =HaTd qHE
4. T gt I A (o) T it
f= fou U oge #w owEW W OGE IW
e () Tha i
w: .n
(@ 132 (d) wrgeed atd
(b) 2 33
€ 34 52. T8 ¥ E7
(d) 134
(a) W%HQGT&
50. -1 it FE-11 & a1y gafa il ok
gt & = Ry o g2 = o =
B (b) ITEOTEA TSH F IYETH
Heft-1 -1 () formm v ¥ dyae
(Sframvsa fod) ()
A. Hrafift 1. 32 (d) TTErH Tl % @HTEGE
B. g 2. HEAWSY
C. wmgl 3. dAffeTg
D. ﬁ:]’x:{(—vﬁ'q‘[a 4, 3EY 53. ﬁﬁ%@ﬁﬁﬁﬁ?-m@,%%gﬁm
# wftufera g rfteerdt & wfire =i 27
Fe
(@ & B C D (a) wEA @ SRR
3 2 4 1
) A B C D .
1 4 2 3 (b) T AR
¢/ A~ B C D
3 4 2 1 (c) i & faeg erfren
@ A B C D
1 2 4 3 (d) HI N AUFR
P-DETB-M-HL/66A 21 [P.T.O.
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54. Consider the following statements
relating to the procedure of the
election of the Speaker and the
Deputy Speaker of the Lok Sabha :

1. The election of a Speaker shall
be held on such date as the
Prime Minister may fix and the
Secretary General shall send to
every member notice of this
date.

2. The election of a Deputy
Speaker shall be held on such
date as the Speaker may fix
and the Secretary General
shall send to every member
notice of this date.

3. At any time before noon on the
day preceding the date so
fixed, any member may give
notice in writing of a motion
that another member be

chosen as the Deputy Speaker
of the House.

Which of the statements given
above is/are correct?

fa) 2 and 3 only

(b) 2 only

(c) 1 and 3 only

(d) 1,2 and 3

P-DETB-M-HL/66A
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55. The writ of Prohibition’ is issued by
a superior court

(a)

(b)

()

(d)

to prevent an inferior court or
tribunal from exceeding its
jurisdiction or acting contrary
to the rules of natural justice

to an inferior court or body
exercising judicial or quasi-
judicial functions to transfer
the record of proceedings in a
case for its review

where it can call upon a person
to show under what authority
he/she is holding the office

to an authority to produce an
illegally detained person before
the court for trial

56. Which one among the following is
not a Fundamental Duty of the
citizen of India?

(a)

(b)

(c)

(d)

To develop scientific temper,
humanism and the spirit of
inquiry and reform

To safeguard public property
and to abjure violence

To wuphold and protect the
sovereignty, unity and integrity
of India

To practice family planning
and to control population
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54. W% @91 & 3eAE Ua Iqreaw & fatew
Fi ufzF % ey | fmfafaa saat w
ﬁﬁﬂ(ﬁﬁm:

1.

Iy w1 fat=s oE /s | @
i waES e ®oAR wEmfiE
TE e & 3@ ffy A ogEm
T |

Iqeay & fratem vt fafs =& g
S oAy =R wemfE
% T & o fafy A gE
9 |

3@ v fra fofy & g i G
¥ vt fret wmm, Y ot vew T
w&e i forfa g @ weRar @ fR
T 999 H TE F IqAG F ¥
q g1 S |

S wE i A A/

(a) Fad 2 3R 3

(b) I 2

(c) IS 1 3 3

d) 1,2 3R3
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55. ‘gfvy’ fe sfw = g S
EiCiRS

(a)

(b)

(c)

(@)

) 3t =marerm W Aftesr R
et ol @ sl B W
ot =g & e & feg =
FH VI & forw

fordt atR =mem 1 =nfEs eryan
feR-wed Feal B Fewfa s @
I T &, gafom & ag T
e T FHEaEE & AfieE H IS
qAfdesA & o st # 3

8 a8 fodl = @ 98 e =
gedar ¢ % a8 femm & frm
iR & T 98 98 ¥R & @

?

et witet =, @l & a3
Hay &9 ¥ fes foy o et st
w femw & fog ~mmem 3 sa
ED

56. ferfafiga # @ S9-w ©, awE F i
1 Ol Hdod JEl 37

(a)

(b)

(c)

(d)

Agfe wem, gMadER qun =
9 gur 1 WA fentta &

w9 e Y T e T w5 g
FE

I % AT, THaT 03 3TEuedr
TR T a7 IHA! TET HTAT

yiEr e o @ sHEE
e =

[P.T.O.
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57. Which one among the following writs
literally means ‘you may have the
body™?

(a) Certiorari

(b) Habeas corpus

(c} Mandamus

(d) Quo warranto

58. Consider the following statements
about Viswanathan Anand :

1. He has won the World Chess
Championship five times.

2. He is the first sportsperson to
receive the Padma Vibhushan
award.

3. He is currently the No. 1 rating
player on the FIDE Ratings.

Which of the statements given
above is/are correct?

(@ 1,2 and 3

(b} 1 and 2 only
{c} 2 only
(d) 1 and 3 only

P-DETB-M-HL/66A

59.

60.

24

Consider the following statements :

1. Mahesh Bhupathi and Sania
Mirza won the French Open
Mixed Doubles Title in the
year 2012.

2. This is their first Grand Slam
Title together.

Which of the statements
above is/are correct?

given

(a) 1 only

{b) 2 only

(c/ Both 1 and 2

(d) Neither 1 nor 2

During the recent Venus transit
{(June 2012), the planet appeared
as a tiny black circle moving on the
Sun. The black colour on the Sun is
because the planet

is black in colour

(@)

(b} obstructed all light from the

Sun

(¢

was invisible due to bright rays
from the Sun

(d) behaved as a black hole during

its transit
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57. Fafafes fel & 8 fom s =1 seran: o 59. fmfafea Faa1 W faem Hifsu .

TR A O 27 1. = 2012 # Wiyl @@ Wl
firat 3 = o TR saew 2rees
(@) I St
2. WY T 3H IH H IE Is T ®H
. T3 &
(b) & TefieTor
I weE F A A1/ T /R
(c) XA
(@) Fad 1
(d) IFER-g=1
(b) oA 2
58. fawmed am= & an # Frafafe s € 1 3w 2 3
Wﬁﬂ'ﬂﬁﬁﬂ:
1. 397 fag wow SfFRT vE aw (d A1 aP2
S 21
2. FF ‘Tl gEER OW Fel
ggen fgae 21 60. Tl F IF  HHAU (S 2012) F WA,
3. FIDE ¥én ¥ a8 adqm # 2w 1 ““@WW'&F{%-W%*‘
W Rt 31 e Weflq g3 | G W A FrH T @
' g, i

I FYA § W FA-91/8 G@ B/ (a) 5 T€ 1 TT e &

(@) 1,23W3 b)) ™ e Y gl A wht I ® aie
: o
(b) HaT 1 AR 2
¢ T TE g A A frel f a9 @
AR
(c) FHISA 2
(d) T® U €AY % W Fe T
(d) F 1 3R 3 TE G LT o
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61. Which one among the following was

the theme of World Environment
Day, 20127

(a) Your Planet Needs You—
Unite to Combat

(b) Many Species. One Planet. One

Future

{c) Forests—Nature at Your
Service

{d) Green Economy : Does it

Include You?

62. Consider the following statements

about Rahul Bhattacharya, who
won the prestigious Royal Society of
Literature Ondaatje Prize, 2012 :

1. - He was awarded the Ondaatje
Prize for his book, The Sly
Company of People Who Care.

2. He is a cricket journalist.

Which of the statements given
above is/are correct?

fa) 1 only
(b) 2 only
{c) Both 1 and 2

(d) Neither 1 nor 2

63. Which one among the following

popular cartoon characters has
recently completed 50 years of
creation?

{a) Chota Bheem
(b) Mowgli
(c) ‘Utterly Butterly’ Amul Girl

{d) The Common Man

P-DETB-M-HL/66A

64. Industrial Revolution, in its early

phase from C. 1760 to C. 1850, was
largely dependent for its success on

(a) machine power that replaced
the labour on a large scale

(b) elaborate road network for
transportation of industrial
products

fc) network of electric power
stations

(d) organization of labour under
factory system

65. Consider the following statements

about the European travelers to
India :

1. Sir Thomas Roe, the
representative of the East India
Company, was granted the
permission by Jahangir to
open a factory at Surat.

2. Captain Hawkins was driven
out from Agra by the Mughals
at the instigation of the
Portuguese.

3. Father Monserrate traveled
with Akbar on his journey to
Kashmir.

Which of the statements given
above is/are correct?

(a) 2 and 3
(b) 2 only

fc) 1 and 2
(d) 1 and 3
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61, Ffafaa @ & s9-w1 s, fag w@iawm

feag, 2012 =1 fawg @?
(a) Y% TE H Y FT&A e—HTY

64. i wf=, o IEemd W &

C. 1760 ® C. 1850 d®, A9 %erdT
& T gewa: feg w fnft ofit?

% e w= 2 9t
(b) T SNt T U | TR Wi
(c) FTA—IFe Taeh! Tar §

(d) Ta rfegewen . @9 W AU
qrifire et 27

(@) 7 wifth 8 geq TR W W R
hcreenfua foran

(b) 3ieifies IRl F uRew % fou
foreqa wres Yeadh

(c) Torga ot s &1 Feadh
62. Uga wgEd, e wfifda taw awmd

A% fofeta Ondaatje TEHR, 2012

Strar, & fm § f=foafae Fort v faem

HRg

1. = Ondaatje J&EHKR I RANER
T T w1 A fivw g w0 *

(d) HREMT HETET & q8d X H T

65. WNd ¥ A FdE bt F s A
Frafafaa st = fEr fifse .

e e e U, $=2 3w s F
‘ ¥ 1. § ¥ymyg T,
2, TE THHR | S\ .
S wAl A § HA-91/R wE g/ FREHT Gien R A & )
(@) F4 1 2. ydmfert & IkEM ¥ Fe wfw

H PTA G AW |/ A Fewren

(b) A 2 ™
() 1 32 3Ft 3. Hyfit it AT A W wE 7R

I ITFEE & WA AT A |
(d F@1aRITE2

FYAl § § ®H-61/4 87
63. fifafin wgatia av Sfc § @ Fra e AR
TE 4 T @A A =% 50 9§ @)
fru? (@ 23MW3
() B Hiw (b) Faw 2
(b) T
132
c) ‘el wetElt sma e “
(d) < A B (d) 133
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66. Dalhousie has been regarded as the
maker of modern India because he
brought about reforms and made a
beginning in many fields. Which
one among the following was not
one of his schemes of reforms?

{a) Educational reforms

(b) Construction of railways and
introduction of telegraph and
postal services

{c) Establishment of a public
works department

(d) Factories Act to improve the
condition of Indian labour

67. The suppression of Indian language
newspapers under the Vernacular
Press Act of 1878 was caused by
the criticism of

(a) lavish lifestyle of the English
officials

b) ill-treatment given to indigo
workers by their English
masters

(¢) inhuman approach of English
officials towards the victims of
the famine of 1876-77

(d) misuse of religious places of
India by English officials

P-DETB-M-HL/66A
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68. A ‘rectifier’ is an electronic device
used to convert

(a)
(b)
(c)

(d)

AC voltage into DC voltage
DC voltage into AC voltage

sinusoidal pulse into square
pulse

None of the above

69. In step-down transformer, the AC
output gives the

(a)

(b)

(c)

(d)

current more than the input
current

current less than the input
current

current equal to the input
current

voltage more than the input
voltage

70. When ice melts, its

(a)

(b}

(c)

(d)

volume decreases

volume increases

volume and mass both
decrease

volume decreases while mass
increases
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66. ST H IMYFH WRa w1 Fwlar @

ST ], i 98 GUR AT 91 FE Sl
4 yeama | Frorfafas # @ F9-w =
3! GUR AR § | Th TE 7

(a) Sreafors guw

(b) tomri = fwie g R @ s
Haraft Y YT

(c) e Fior fasm Y wemoen

(d) s it F o fs ® ga| &
fere @ Afyfaem

67. 1878 % THIFeR I UFR & ded WA

o % GOER-TE R gEd TR
ST 1 Fofg § g3 A17

(@ st aftmEfEt f IEw
EIECRIl

(b) 3T wiferen! g A F FET *
Y U FIER

) 1876-77 & @ difeal & wfa
st orftrmfl w1 SmmdRl
HEcau|

(d) st et g ana % il
T T e
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68

‘Rel’ ©w oigiE IfHF R TEE W@

e fafia #@ % fag dar 37
(a) AC dieedr  DC dieeal d
(b) DC e Tl AC dleeal §
(c) EHER T H 11w

(d) 3T T & ®8 T

69. 3=t aftonfim § AC frfa =1 wem =@

27
(@) Ta g @ stfee am
(b) THEW g ® FH uW

(c) THaw um & U=

(d) T Scear & sifues dieear

70, & 9% e §, @

(a) ST FA Ted B

(b) TEHT AT TS B

(c) TEHT I qY1 SAHH A1 Hea 8

(d) ITEF AT HEd § e FSHH
CECIR
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71. The riverbank is weakest where the
river turns. This is because water

(a) gets concentrated on the inner
bank of the turn, making it
denser

(b} effectively bounces off the
outer bank as it turns, exerting
an extra pressure on the bank

(¢) flows faster as it turns

(d) reacts more effectively with the
bank at a turn

72. Why do we have a leap year every
four years?

(a) The Earth gets shifted out of
orbit every four years

(b) The revolution slows down a
little once every four years

(c) The length of a year is not an
integer number of days

(d) It is a convention

73. Rain-bearing clouds look black
because

(a) all light is scattered by them

(b} the large number of water
droplets in them absorb all the
sunlight

(c) they reflect the sunlight back
into the atmosphere

(d) there is a lot of dust condensed
on the water vapour in such
clouds

P-DETB-M-HL/66A

74. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
(Tribal Group) (State where
predominantly located)

A. Reang 1. Arunachal Pradesh
B. Dimasa 2. Nagaland
C. Konyak 3. Tripura
D. Mishmi 4, Assam
Code :

(@ A B C D
1 2 3

() A B C D
4 2

1 3
0 A°. B C D
3 2 4 1

d A B C D
4 2

75. Which one among the following
sequences of water bodies, from
lower to higher salinity concen-
tration, is correct?

(a) Gulf of California-Baltic Sea-
Red Sea-Arctic Sea

(b} Baltic Sea-Arctic Sea-Gulf of
California-Red Sea

(c) Red Sea-Gulf of California—
Arctic Sea-Baltic Sea

(d) Arctic Sea-Gulf of California-
Baltic Sea-Red Sea
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71. SE A9 A §, TE q@ HEAW FHHASN T
B | T zafor B, wifs O

(@) TE F ofredl R W T B 3w
o1 AT B

(b) R T FFR T 3rfaies e/ @ ge
gear 8, Al PR & waeh w9 @
IS &

(c) =8 & gear q, asht & Ie T @
(d) s | fFm & ay sl g
w9 U wfafwr =@ ?
72. W =R Tu7 9 arferad w4l g 27

(a) Y% IR a9 W gt FE1 W GR
g2 STl 8

(b) YRE TR TN W TH IR TREHDT FB
4 el &

(c) =¥ wwed A i quris gem T
2

(d) € TH GO B

73. a9i-aEF SEa wra fewa &, =ifs
(@) 3T g0 @t Tereft webiof & et @

(b) T a& wEm ¥ 5 fagE 9l
dia o

() 3 yg B gaR FwE § wRiE
Fq ¥

(d) R TEal § Jd-a1 W TERE
e GEd Bt 8
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74, -1 & g1 % Ay gAfom AR ok

gfrat & HR fiu e g w1 oy W oad
mgﬁq:
-1 -1
(ST AE) (o wEr a
qUTAd: arafer §)
A. Tam 1. ST 939
B. fenm 2. AMIVS
C. &I+ 3. Bu
D. fuwfy 4, 3Em
Fe
@ A B C D
1 2 4 3
() A~ B C D
1 4 2 3
fc) A B C D
3 2 4 1
d A B C D
3 4 2 1

75. f@ @ 3= dEvig OFEaT % wW W,
s frerat = fafefea 4 @ e =
I TE 87
(a) hfcTRITa E3 @1@-—-3”(335

HIM—AATA ATR—ITYET G

(b) aifecdh TR—IWYIE  Am—
Ferpiftan : @—aa g

c) @ ATH—SfaREa ft aEd—
IMYAT TR—ATfeds® TFR

(d) Iwyd wm—&fewfar  #
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76. The main aim of

watershed
management strategy of India is

fa) promoting silviculture

(b} hillslope management

{c) arid land management

(d) soil conservation

77. In absorption of insolation, the most

significant part is played by

{a) carbon dioxide

(b) ozone

(c) oxygen

(d) haze

78. Which among the following cities of

India will have mid-day Sun exactly
overhead only once a year?

(a) Delhi and Chennai

(b) Srinagar and Darjeeling

() Hyderabad and Kohima

(d) Nagpur and Kolkata

P-DETB-M-HL/66A
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79. The Speaker of the Lok Sabha may

be removed from office by

(a) the majority party in the Housé
adopting a  no-confidence
motion

(b) a resolution passed by not
less than half of the total
membership of the House

(c/) a resolution passed by at
least two-thirds of the total
membership of the House

(d) a resolution passed by a
majority of all the members of
the House

80. What is/are the major difference/

differences between a written and
an unwritten constitution?

1. A written constitution is the
formal source of all
constitutional laws in the
country and the unwritten
constitution is not the formal
source.

2. A  written constitution is
entirely codified whereas an
unwritten constitution is not,

Select the correct answer using the
code given below :

Code :

(a) 1 only

(b} 2 only

(c/ Both 1 and 2

(d) Neither 1 nor 2
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76. WRA i FAHSEF Jo-e WHITG F1 &

T w17

(@) FTA-TT B FETE
(b) TETE T e
(c) I AW T

(d) Tt weaw

77. Gl % AT § TEd Aewq e

foraes gra fAsrg et 27
(a) FTEA SEATFEE
(b) S
(c) ATl

(d) g4

78. WG ¥ Fefaflgd § 4 #9-9 w8 & o

7 f4F s 9x mww w1 @@ 3w RRF
S g 87

(@) Togh wa ==d
(b) fir wa aisiem
(c) TSU=IE o Wi

(d) T TS IRl
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79. W% 99 & AWH F ¢ ¥ frww gw

BT ST Ul 87

(@) W # Sgud 9 T g, Al

ST Tl ST

(b) WEl # T WAl F FH-H-FH
3119 el I TG Hehed I

(c) &1 H FA A & FH-H-FH
2-foerd wewlt g0 W@ wehed g

(d) T % oft 9eRil F Fgad g i
gHeq g

80, foaflgn oMt arfafge wfvm & 9w @

= /8T

1. fafea dfum 2w & ot Aufe
faftrt & Nu=fs @| & ek
sifefaa dfaum shwarfs aa @
2l
%, safe srfrflad d@fdum =& San

d= fu M R w WM W T W
ghe

w™:
(@) Faa 1

(b) Fa 2
(c) 1323

(d) T 13RI&H2

[P.T.O.
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81. In the Rajya Sabha, the States have
been given seats

(a) in accordance with their
population

(b) equally

(c) on the basis of population and
economic position

(d) on the basis of present
economic status

82. The Preamble is useful in consti-
tutional interpretation because it

(a) uses value-loaded words
(b) contains the real objective and
philosophy of the Constitution

makers

(c) is a source of power and
limitation

(d) gives an exhaustive list of basic
features of the Constitution

83. Which one among the following is
not an attribute of sustainability
of Indian democratic model?

(a) Unity in diversity in socio-
cultural patterns

(b) Sustained economic growth
specially after the 1990s

(¢) Regular elections in the Centre
and States since 1950s

(d) A strong industrial base with a
vibrant federal structure

P-DETB-M-HL/66A

84. Which one among the following
was the immediate cause of attack
by Nawab Siraj-ud-daullah on
Calcutta in 17567

(a) Refusal of the English
Company to pay the overdue
trade tax

(b) The English conspired against
the Nawab with a view to
depose him from the Throne

(c) Siraj-ud-daullah wanted to
drive out the English from
Bengal

(d) Refusal of the English to
demolish the fortification of
Calcutta

85. Which among the following materials
were used for minting coins during
the rule of the Mauryas?

fa) Gold and Silver
(b) Silver and Copper
(c) Copper and Bronze

(d) Gold and Copper

86. What was the Kutagarashala—
literally, a hut with a pointed roof?

(a) A place where animals were
kept

(b) A place where intellectual
debates among Buddhist
mendicants took place

(c) A place where weapons were
stored

(d) A place to sleep
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81. TSY 99 § U=d1 &l T fora Y& fou o

g7
(@) I TG F FFER
(b) THHA TG H

(c) e iR e feafa & amum
|

(d) TEE antdes feafa & smun w

82, wifvufes s § = s R,

41t
(a) A& Yoa-wifa wsat w1 FAM el

(b) W' Glagm Fmiaet & arafas de
3R g9 ot wftifera &t @

(c) TE Ttk R ufedivst =1 & ¢

(d) dE Glaum H onury@ sttt
it grgol g weT el @

83. fimfdfige & @ +w-w1 s,

AlehdiEes Alge o urefear $i faowan

Tt 27

(@) TR -Arepios gioedl § ffgu
R

(b) aifE nfde fomm, fagivsm 1990
% GYTh o U]

(c) = a4 T H 1950 & eWh W
e g

(d) & Shad gi e % g™
wiRmaTelt S e

P-DETB-M-HL/66A

84. 1756 H woiehdl W o HUS-3g-gen

B AGRAY oY S 1 ATHITCTR FR
frefofaa 3 @ -1 wh @t

(@) SN FHA g sifdey SYR-
3G FE | FHR

(b} ST 3 @ F foeg W T @
g 1 < @ wgEw fran

(c) REe-3g-d@r s w I F
TR G T8l A1

(d) el ) fhelad] @ | w9 @
ST T FHR

85. M4 & WHAH 4 fad Ten # fofu

fafeafaa 8 8 foe vl 1 3w @
o7

(a) Quf@%ﬁ?ﬁ
(b) 4 wd qm
(c) T TE Htal

(d) T Tg qm™

86. Ferranen, s miRew wd Tl wa

aTeft Aol @, 1 gt ofi?
(a) YA F T T W W

(b) W& A @ g Mgt & 9
Sfgew ar-foar e m

(c) & T THI WA F WE

(d) TREE T H

[P.T. O.
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87. The ‘Dhamma’,
Ashoka, was

(a)
(b)

propagated by

the tenets of Buddhism

a mixture of the philosophies
of Ajivikas and Charvakas

(c) a system of morals consistent
with the tenets of most of the

sects of the time

(d) the religious policy of the State

88. Which one among the following pairs
is not properly matched?

(a) Megasthenes : Indica
(b) Ashvaghosa : Buddhacharita
{c) Panini . Mahabhashya
(d) Vishakhadatta : Mudra-

rakshasa

89, In an atomic explosion, release of
large amount of energy is due to
conversion of

(@)

chemical energy into nuclear
energy

(b)
(c)
(d)

nuclear energy into heat
mass into energy

chemical energy into heat

90. Soaps cannot be used in acidic
condition because they lose their
cleansing effect due to formation of

insoluble

(a) esters

(b) alcohols

(c) hydrocarbons

(d) long-chain fatty acids

P-DETB-M-HL/66A

91.

92.

36

Farmers are requested to mix lime

with
This

(a)

(b)

(c)

(d)

soil while farming their fields.
is because
lime is very  helpful in

maintaining the water content
in the soil

lime decreases the acidity of
sail

lime decreases the basicity of
soil

high concentration of lime is
necessary for the plant growth

Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II

(River) (Tributaries)

Ganga 1. Chambal and Ken

Indus 2. Wainganga and
Indravati

Yamuna 3. Chenab and Sutlej

Godavari 4,

Gomti and Kosi

Code :

(@) A B C D
4 1 3 2

(b) A B C D
4 3 1 2

fc) A B C D
2 1 3 4

(d) A B C D
2 3 1 4
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87. 39S T Y= ‘urq’ =1 o477

o1. Frart @, & # P F WA el &

fiem =1 w1 st 21 F% Frafe 27

(a) EHd & g
(b) STt R =ratwl & &l @ (@) I, fgt & S@1 3w A W ®
T Igd FEEF @

) 39 9 & FAUFv TEE &
fygral @ wma = HEwR

(d) T ht aififs Hfq

(b) I, firdt it et Y e 2
() =, Tt b et A e @

88. f=fafaa @ @ #F-w w gw wgfoe = (d) I3 F I FiE@ 9ey ghg F o

| gufor 7t 27 & &
(@) TrERw . e |
(b) FwEw . g 92, T-I I G-I & |y FAfera FRIT 3k
: ‘ , geat & A9 I 1 2 w1 wEm =g
" (c) arforfa : YETHTS Wﬂﬁmi
(d) foomEes . ‘EreE
eft-1 Hei-11
89. T faeRiz #, Feg WA B I A W () (weTae )
foFe: T F RO B &7 A. T 1. et 3R
(a) TEEHEF S 1 AER S 8 B. fiy 2. T SR TETE
(b) I St w1 S A C. =gl 3. @ 3R gaes
(c) FHIR & F A ‘ D. TeEEd 4. Tt 3R S
(d) TEEfE TS w1 S H
Fe
90. WEA & IWM AT g9 H A foram W @ A B C D
Hehdl, HiE 3§ T Afaed TR H HEO 4 1 3 2
AT WESAER! VT @ d &1 d' m A B C D
faeta ®A-91 87 s 3 1 9
(a) TRX
(c) A B C D
(b) IcIE 2 1 3 4
(c) d A B C D
(d) <e-IEe FE A 2 3 1 4
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93. Tank irrigation is practised mainly in 95.

Peninsular India because

1. undulating relief and hard
rocks make it difficult to dig
canals and wells.

rivers are rain-fed

of compact nature of population
and agricultural fields

Select the correct answer using the
code given below :

Code

(a) 1 and 2 only
(b) 2 and 3 only
{c) 1 and 3 only

(d) 1,2 and 3

94. Consider the following statements :

1. Rural forestry aims to raise the
trees on community land and
on privately owned land.

2. Farm  forestry encourages
individual farmers to plant
trees on their own farmland to
meet the domestic need of the
family.

Which of the statements given
above is/are correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

P-DETB-M-HL/66A 38

Which of the following are
responsible for the decrease of per
capita holding of cultivated land in

India?

1. Low per capita income

2. Rapid rate of increase of
population

3. Practice of dividing land
equally among the heirs

4. Use of traditional techniques of

ploughing

Select the correct answer using the
code given below :

Code :

(@)

(b)

(c)

(d)

in

(@)

(b)

(c)

(d)

1 and 2
2 and 3 only
1 and 4

2,3 and 4

96. Surface water resources are highest

Ganga plains

North-Eastern India

Peninsular India

Indus plains
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93, qIo@ ¥ fEE yea: WY wRa #

wafea ¥, FiE

1. @ERR -3Fh o #r d, Tl
R Fail A gerd # gfvrs s §
Ffeat aui-gia &
Jmendt 3R H & @a g9 B F
H

f= fir T e = W | @ W
EELE

e
(@) Fad 1 3R 2

(b) FEA 2 IR 3
(c) a1 33

(d) 1,233

94, fefafea Fuat = e fifsw

1. Trtor et 1 RYT IR W
i o =t & uft W T
Suicily

2. v ariieht dufre fRamEt @ et
g H - |, AW yfER #i
Mo mEvEa il g % forg,
I B Fieatiad w3

3o koAl A wA-w/8 A /87
(@) Fad 1

(b) HaA 2

() 132t

(d TA1MAA2
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95. wia # F= 4 & wfa = g F for

frefafen 4 @ w-v soerRll 2
1. T o =afe o
2. SeE-glg # dfid R

3. IWfiE § 99 &9 @ off w1
H2a FA W T

4, T FA K i dFw =
ES ]

f= Ru W F2 1 W@ W g W
ERLE

HE
(@ 132

(b) Fad 2 3R 3
) 134

(d 2,334

96. AT TA GHTYH Fg I 87

(@) T T BEH

(b) - T

(c) WHEEEE sd

(d) Ty =1 few

[P.T.O.
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97. Which one among the following cities

is called the ‘zero-mile centre’ of
India?

(a¢) Kanpur

(b) Allahabad

{c) Nagpur

(d) New Delhi

98. Which of the following statements

is/are correct?

1. High growth will lead to
inflation.

2. High growth will lead to

deflation.

Select the correct answer using the
code given below :

Code :
(a) 1 only
(b} 2 only

(c/) Both 1 and 2

(d) Neither 1 nor 2

P-DETB-M-HL/66A

40

99. The Right to Information means and

includes
1. inspection of documents

2. taking out files from office to
any place desired by the
applicant

3. taking photograph of files

4. obtaining information in tapes

Select the correct answer using the
code given below :

Code :

(@) 1,2, 3 and 4
(b} 1, 2 and 3 only
fc/ 1, 3 and 4 only

{d) 2 and 4 only

100. Which one among the following

statements about ‘Revolution’ is
not correct?

(a) Revolution implies change of
the system itself

(b) Revolution implies change
within the system’s rules

(c) Attempts at revolution often
produce violence

(d) No type of political system is
immune to revolution

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



97. fyfafas @ @ fFe & &t = wwa =

‘Y- e %Ed 87

(a) FAR

(b) TR

(c) YT

(d) =% g

98, fmfafaa & & FH-w1/Q Fuw wd B/%7

1. I=A wahg PEEdfa f am o
Eedil

2. IA HYE gE Eehifa f ik &
STt

fo for M ogR w1 WM W T IW
EGLE

T
(@) FaH 1

(b) FIA 2

(c) 13 23

(d) Tar1mAE 2
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99, TIA # AR ® 3 B 3 oW i

?
1. =was & e

2. THeE ¥ Wge Fewee e o
U} SOTE © AT W8T SAaed AR

3. WIEEl il BIEITE AT
4. gIA1H W § WH HAT

F9 fu Mo w1 owWm W wd W
EGLE

ET
(@ 1,2, 334

(b) a1, 2 3 3
(c) I 1, 33 4

(d) Faa 2 3N 4

100, ‘<’ & a1 & Frafafen 3 @ ®=F-91 1

FeA TEt AL 87

(@) #fR w1 Rftad =g ==mEqn =
i 2

(b) Ff< & Ffgard =@en & faul &
IR ufEd B

(c) = % v A et e dar gyt
2

(d) Tt oft wpr & TorEifas SEwn
W= | I AL 8

[P.T.O.

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



101. Which of the following statements 103. Match List-I with List-II and select
about features of Sanskritization the correct answer using the code
is/are correct? given below the Lists :

1. It refers to a process whereby

List-I List-II
members of a caste attempt to
raise their own social status by (Act) (Feature)
adopting the rituals, domestic A. The Indian 1. Introduction
and social practices of a caste Councils Act, of provincial
of higher status. 1892 autonomy
2. The practices which were
usually chosen for emulation B. The In@ian 2. Introduction
were adopting vegetarianism, Councils Act, of .the
wearing of sacred thread, 1909 prmc.iple of
specific  prayers, religious election
ceremonies and so on. C. The Government 3. Introduction
of India Act, 1919 of diarchy

Select the correct answer using the

code given below : in provinces

D. The Government 4, Introduction
Code : of India Act, 1935 of separate
electorate
(a) 1 only for the
Muslims
(b) 2 only
¢/ Both 1 and 2 Code
{d) Neither 1 nor 2
102. The ‘Instrument of Instructions’ (@ A B C D
contained in the Government of 2 4 3 1
India  Act, 1935 has been
incorporated in the Constitution of
India in the year 1950 as (b) A B C D
(a) Fundamental Rights 1 3 4 2
(b) Directive Principles of State
Policy g A~ B C D
(c/ Extent of Executive Power of 2 3 4 1
State
(d) Conduct of Business of the (d A B C D
Government of India 1 4 3 2
P-DETB-M-HL/66A 42
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101, TepdeRwr  H fowmwanett & sR A 103. -1 = FE-11 % w1y gakm Aifse sk

Freafafaa 4 & o9-w/a s g 2/37 gfgt & 9 R g w1 v = g
1. W 3@ Y B AR w3 I AT ¢
forok g Tt e & wees, 3=
wfeyfa 1 i & wHEvEl, W ~
i gufE el W TR (wﬁﬁ_l ) (wﬁi n)
sdft W A wmifrs wfefa @
F91 3/ TWE FA T
2. & gy & gEa: wfoedt & faw A, T sfemm wefeen 1. wida wEmar R
ot Wt off, & off weER STHA, UF2, 1892 BREI
JgEtd arer F, ARy wehamd,
i gET S, e | B. f ¥fom w2, frate & far
T2, 1909 1 yeaTa
2 iy Mm@ F F oM W FE I
ES C. WA TR 3. =il T gusmEe
& : sfafm, 1919 YT
a) a1 :
D. ¥Rd §&K 4. HEEHH! & fou
(b) FIA 2 srfafam, 1935 o Fafem &=
EIRICEI
) 13 2TH
(d) Fd1sRad2 %
@ A B C D
2 4 3 1
1 102. ¥d w&ER HfufEHE, 1935 § swtifa
‘TR 7 & T 1950 # WHA &
gfaum & frg w9 § afafas fem mn 27 ) A B C D
1 3 4 2
(a) IETHFHEER
€0 A B C D
(b) T & Ffifa fFews 2 3 a4 .
() T FHrEETER e F1 R
(d A B C D
(d) Y@ TR HT FHE -H=eH 1 4 3 2
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104, Silk routes are a good example of 106. Which one among the following

vibrant pre-modern trade and depicts the correct meaning of the
cultural links between distant parts term Jins-i-kamil concerning crops
of the world. Which one among the in Mughal India?

following is not true of silk routes?
fa} Paddy crop

(a) Historians have identified

several silk routes over land (b) Cash crop
and by sea {c) Coarse crop
(b) Silk routes have linked Asia (d) Crop grown in the arid zone
with Europe and Northern
Africa 107. Match List-I with List-II and select

the correct answer using the code

(c) Silk routes existed before the given below the Lists :

Christian era and thrived
almost up to the fifteenth

centu List-I List-II
v (Mineral) (Producing Centre
(d) As a result of silk route trade, in. Map)
precious metals like gold and
silver, flowed from Asia to A. Copper
Europe
B. Mica
105. Which one among the following
correctly  describes Gandhiji’s
attitude towards the Swargjist C. Chromite
leaders?
(a) He wa.s not oppf)sed to their D. Lignite
entry into Council
(b) He had full trust in their .
bona fides and considered Code :
them t C;n;)std valued and (@ A B C D
respected leaders 9 4 1 3
(c/) He was not in favour of (b) A B C D
maintaining warm personal 2 1 4 3
relations with them
(c) A B C D
(d) He was neutral to 3 1 4 2

Government’s offensive against
the Swargjists and did not (d)
defend them

w >
S W
e
SN
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104. wm arl f9g & gx =t & d= Sioa

qd-3NYFF IR Td GREfas Hiedl &
T e 3| Tl @ @ s
T, W A & &R 8 geg TE 27

(a) iRTES 3 T W R 995 @ B
3% T AT Y I

(b) YT T 3 oRE B T R T
s @ e 2

{c) wm nrl st g1 @ gd arfea & 9
AR F oW UEEd! TEEEl a%
Hel -

(d) Wm mrffs =R % FRer @l K

=il S gogae Ol TR @ gy
LR il

105, freffaa & 4 FH-@ ©H, @OEER

Jaet F wfg wfish A wgRk W
Jier -3t afufa wxar &7

(@) I FEES T I yaw & GO 1
O

(b) 3 I TR W QU W T
T T

(¢ 2 I wiks =t =y T=T
@d & ug § 9E

(d) I wOmERE & fa%s TR %
IIHSHF T F Wi 928 9 3R
I S=TE A€ a9
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106. fi=fafea & ¥ =F-91 ©%, g™ 9ra |

Al ¥ WUFR W@ 9™ T
To-r-wfye’ & wd od = afaa

HAT &7

(a) @ = HEA

(b) TFE O

(c) ENE (F) wE

(d) T &= § I T e

107, -1 H gA-11 % @y gafaa ?ﬁﬁnz 3R

giat % = i U g w1 v w=oad

He

) A B C D
2 4 1 3

‘) A B C D
2 1 4 3

fc) A B C D
3 1 4 2

d A B C D
3 4 1 2
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.

108. Sargasso Sea is characterized by
r(a) very cold water
(b) very warm water
(c) highly saline water

(d) typical marine vegetation

109. Ozone holes are more pronounced at
the

(a) Equator
(b) Tropic of Cancer
(¢j Tropic of Capricorn

(d) Poles

110. In India, the ‘effective literacy rates’
are calculated from

(a) total population
(b) child population
(c) adult population

(d} population above 7 years of age

P-DETB-M-HL/66A 46

111. In

the parlance of financial

investment, the term ‘bear’ denotes

(@)

(b)

(d)

an investor who feels that the
price of a particular security is
going to fall

an investor who expects the
price of a particular share to
rise

a shareholder who has an
interest in a  company,
financially or otherwise

any lender, whether by making
a loan or buying a bond

112. Which one among the following is

an appropriate description of
‘deflation’?
(a) It is a sudden fall in the value

(b)

(d)

of a currency against other
currencies

It is a persistent recession in
the economy

It is a persistent fall in the
general price level of goods and
services

It is a fall in the rate of inflation
over a period of time
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108. TTTH! 9K & faswar &0 §7
(@) AT Sfaer st
(b) ¥t IM
(c) At dauiy S

(d) e g seafa

109. 3T fox F3 W il gew €7
(a) @
(b) FEGE
(c) HF@

(d) ¥

110. a4 ‘et e |t fored affir

STt €7

(@) TA STTHEA

(b) TRTY] SHEE

(c) A SHUEA]

(d) 7 % F I B FW ) GG
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111, foefim Few & dema 94 ‘Hefea (Rem)’

v foe Tifoa = 27

(a) % fAawes < qeg@ ww § % G
oy wfnf (Relfe) 6 Fm
[UCEE I RG]

() 97 Teve | i @@ 9w &
FIHd T il AU T 8

(c) & Wy e fomd et |
it w9 @ I s, w4 2

(d) T IUTEE, T A IR A A W
g Gl ¥

112, F=fefga o @ =9-a1 @&, ‘seefifa’ &
wgfua avia 37

(a) T Torelt o1 & wed § o= gieh &
I 3T STeREnTq FTRTee 3

(b) UE referaee ¥ waa I g8 A ¥

(c) ¥& awgail N Y=t F ww
Hra &1 § dad e 2

(d) =& Tt TaEfy & gEehift 6 «
§ figee &

[P.T. O.
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113. With reference to Lok Adalats, which Select the correct answer using the
one among the following statements code given below :
is correct?

Code

(a) Lok Adalats have the
jurisdiction to settle the
matters at pre-litigative stage (@ 1,2 and 3
and not those matters pending
before any court () 1 and 3 only

. (c) 3 only

(b) Lok Adalats can deal with
matters which are civil and not
criminal in nature {d) 1 and 2 only

(c) The Lok Adalat has not been 115. Consider the following statements :
given any statutory status so
far 1. In India, only two Union

Territories have Legislative
Assemblies.

(d) No .appeal lies in a civil court 2. Mizoram, Nagaland and
against the order of the Lok Meghalaya, the three North-
Adalat Eastern States of India, have

only one seat each in the
Lok Sabha.
114. Which among the following Which of the statements given
provisions of the Constitution of above is/are correct?

India is/are fulfilled by the National

Social Assistance Programme

launched by the Government of @ 1 onl

India? Y

1. Fundamental Rights (b) 2 only

2. Fundamental Duties (c) Both 1 and 2

3. Directive Principles of State
Policy (d) Neither 1 nor 2
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113. &% IREEl & d=-d §, Fefafes 4 @ f= ffu T oge F oW W Ed TW

HMA-T1 TH FIH Gl 27 g :
Fe
(a) W& I h UH I HHSA! H
P st 2, S g @ 1,233
WA H R d ks
et ® T8 ) fedt e %
3R
i 3 (b) Faa 1 3R 3
c) Faa 3

(b) TF WA I AW R A Gehal
2, o fufew =%y & T o Tifes
ey F TE T (d) Faa 1 32

(c) W FeTEa H Ift TF B FHEH

Mg aff A R 115. F=fafae Faat w faar A .
1. ¥Xd ¥ %ad g 99 TsadEt 7 foaum
@) @ s % o % freg frd i &1
Tt =marerE @ 1 ardie T A 2, Wwd % qH SW-gell a, fin,

AMAvE 3R AETEE, TAE Al
[T ® had TH-TF 0 B

114, ¥Rd & dloum & Fefafaa § 4 fra/fe

fope U ftw wrmfeer dEEa ST 51
?
q femar a3 @ ¥
1. 7@ AER (b) a2
2. T HA () 1323
3. T & Hfife feys = (d F@13MId2
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116. Consider the following diagram : 118. Which one among the following
statements regarding Chinook

£— North Pole winds is not correct?

J— N
/[ N\

\é——Horse Latitude (a) These are local winds
A (b) They descend along the
. 4 eastern slopes of the Rocky
\ / Mountain in mid-latitudes
We— Polar high pressure belts
<— South Pole (c) They bring lots of rain with
them
In the diagram given above, what
does A denote? (d) They benefit agriculture

119. Which one among the following
statements is not true of the
Jajmani system ?

(a) Doldrums

{b) Trade winds
(a) 1t was a non-market exchange
(c) Westerlies system

(b) It was practised in many
villages and regions during the
pre-colonial period

(d) Easterlies

117. There are three distinct characters () It
of temperature stratification of
atmosphere around the Earth.

was introduced under
pressure from the colonial

regime
Which one among the following is -
the correct arrangement of the (d) It was incorporated into wider
layers (from the Earth’s surface networks of exchange through
upwards)? which agricultural products

and other goods circulated
(a) Thermosphere—Stratosphere— ‘

Troposphere 120. Which one among the following
books was authored by a lady of
{b) Troposphere—Thermosphere— the Mughal Royal House ?
Stratosphere ‘

(a) Akbar Nama

{c) Troposphere—Stratosphere— b
(b)
Thermosphere

Babur Nama
(¢) Humayun Nama

(d) Thermosphere—Troposphere—
Stratosphere (d) Badshah Nama
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116. fefra sma w faar fifw :

I faw e I # A @ wn oifaa 27
(a) SrTgH

(b) FAIR G

(c) g T

(d) gt gamd

117. 9ot & 9 3R 9gAvESd & a9 &1 Al
= gere femiward #| frafafea & @
FH-A TH, TWal (Y8 ¥ FW il )
1 el famm 27

(a) AR —HHvE— &S
(b) ENTHISA—YH e —THATIvEd
(c)  THUEA—HHATTHISA—UHTEHIIT
(d) THESER—E U d—aHATIavSd

P-DETB-M-HL/66A

118. = waqi & ar § fafafaa & 8 ®F-w
T FHu w87

(a) T T 9o §

(b) ¥ WA Fgiw § Uh wda F g
TAM! & HIY-UTY a0 &

(c) A T AT Fga W A
(d) T8 FH A 1y A B
119. F=fafas & 4 s9-w1 & w99 SemE
SR F 91 § 9 TE 87
(a) I8 IR fafmg syeen o

() & @-INubEliE w9 F E
I TiiE! T S # g o off

(c) 7% shufiafie v ¥ e % g
€ H TR

(d) =7 fafma & suaga Al =

Jeawt § waife ot frms g Hf
I 7 77 FEgU IReEig gt of

120. f=fofaa & @ wW-@ & fram ‘g
WiE qftEr’ 61w Afeen 1 fordt 27
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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A T ATIHT a8 0T Gt e &t T HEl A a9 a6 7 Get

21t €. : P-DETB-M-HL Tiieror gieaent gy

= 9EA

137881 UHYSTOT YRt
Qg A4

auy ; gt o quTieh : 100

. 38 Tl gfee wowy § Ru g #ms ¥ e s

AFIW

. T WO TR W g 918, 309 3 qherm gieawt i ugaret saya = # f ga «v e o, wa

T YT ZI YV AU WNiw AR 7 q 7R @ R, @ 39wt whaw gieem €@ w5 ol

. FUET oA W@ TR OMR sw-uas #, IRm oA W, T 7w ok wigw gfeaa sigsn A, B, C o

D &t, &R | va fomn foreft o an fammfa & 9@ ik Feag & it Rewar sefigaw 6 21 et
Wt wER & g/ i f Tl 4 sw-vas e = o s

g foran ) wliem gfesm w o o W fod |

. 38 Thgor Y § 120 wwaw (we) Ry g # wee g B i sl F o R ) yE wenw d Wn

Fege (a) R e ¥ T A O weget B g o, R oy Ie-ws @ sifed wen e #) Al s v
e 7% % } s yegm wE €, @ 30 vern B sifhd w S v gEtes o | e S & forn hew

T E TG T R
el 9 Wer st @ R g sme-ms wod sife w4 §1 Swewes | fRu o fdw dfaw)
oft yeEl & ¥ WAe R

. 5 vEd % o whem g ¥ fafm wwis & oW IW-w Wt w0 e w®, sl y&am

THN-TR % @i Ay TR ¥ 9gER 39 fewm sw-mw § A E)

AT ¥ B TEgE B I-TF B WA b g e & G R S Iw-aEeh fias i g )
MY 3 WY Tl giwe & IW A sgefa 2

. F= ®W & fou o wfem gfeen % o § e 2
10.

Teq I & e eve

FHgfE - § Iefigan g Ry e rem sl & fog gve R s

(i) ToF TR & i wn dfRe 3u §) sefiear 3 T@w T F [ Ry g o T IR F Rig 39 8
i T g st @t~ (0-33) 2ve % w9 4 e S

(ii) aft P Infiean wh ¥ wfte o /0 R, A @ TEW IW A O, T R T IR A A 0 I qE
Bt B, iR oft 39 W & fou swfwgen @ @ aw @ s fen smom

({ii) aft Ieftear g 1 wA v @ b e 8, Awiq IedEER gR1 Iat A6 o s 2, 4 3 v % o
wig gug TE fown S|

W qH FAHT Tg TH0 YiErent Tietd ® T FEl A a9 q6 T G

Note : English version of the instructions is printed on the front cover of this Booklet.
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